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Muﬁ)c%wp Cholce.  Questions

Q_i‘ The  clasc mark of the class 9o0-120 s
(> 90 (b) 105 (c) 115 d) 120

Q2 The. cdacc parks ol a —ﬁre,guemé; ljstribution
are  glven Al Lollpws :—

16 206 98wt -
The. clase Cnrre.c,}mndj‘no 4o the clasr mark 20 i<
(@) 125—172.5 (b) 172.5-22.5
(c) 18.5-2).5 (D 19.5- 205

Q3 Tl the mean of x _,x, s ¥.5 and, _the.
mean _ of A A R 8 , then the wualus.
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(o 9 (b2 8 (D 75 ) &

Y Paint CO,.—?} Jiec
(D Bn the Mu-asxic (L) in the. secondd 2uaa/rant

(c) oOn the (’-/J/Clﬂfﬁ (6{) [n f)&_MML

__.((\m@ B i a\@iyu'nﬂ oA, AB, Re amdy e which of
i’hp,lolﬁmmﬂ& f:‘aaure is _abtained I
(a) Ssuare (b) Rgafzzrgéo
fe) Tr‘a*paftium (el ) Rhombuyr




———

188 Which 0f the cfnﬂﬁowmg points Do on

the Qrod:L of the ecguition. 3x-54+7=0

@, - b (2,1 oA s e
.
QF In the ao(.mmmg eﬂmurp x
{2

the area mg ﬁta fha}%ﬁo

ABC |s A \ .

o 7.5 I T
(@) |5 s9.units (L) lo counits S0~ 74 o al
[4 -~ Z L'/v) / L‘1/)
(e) I-5ss.units  (dD2:5g.units

Q8 The distonie botween the Jpolnis /"/“55 arol,

C_l}.o} [s 5 umits , then the walus. ‘bl 48
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(a> Y onﬂ# (b) =Y onﬁa( (2 tY () o

A9 The. Wﬁm/ of / — [3 is
sin3p° CoS 20°
(B2 (b)) | (2> ) d) o
10 The. value. oﬁ |— tam*4Y5° /g egbmﬁztza
| + tan*Ys5°
() tomE0° (b)) toam 20" (> sin45° (d) 2emo°
R
QILIn the aohmmng o‘QIQUVéL, FAR is a
9uqﬂ}l: 'hnan,oﬂz af@ I¢ P4 =Yemn /
annl PR = Qcm then 2P is eﬁaaﬂﬁL
(s (L) Y5° () 30 (d) I5° 5
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QIZ- If the ﬁanat%s 01‘) f,lmaonaﬂf o{a whombu,

IS o(oubﬁmé Hwn o of Mmb‘u_ugﬂg__

(o) dbuledod (b) fgu,b,ﬂoo( |
() fous dimes (d D semains same




(c) Both A ard R ane Lo

Cd) Bo‘H’n A anol R Ohg. -EaLL

___|81Y Pssertion (A): The mean of 19 number: is 28 .
12 the wmean ol the Livet Jo numbers is 326& end.

that &D/ tho. fost 1o i Yo , then the Lot numbes,
13 38

Keason (R) @ Mean = Sum ol chbrervation

Ne. of pbrevvation

(@) O js e, R is false
(b2 A s fa,&.ﬂ—, R is bue
(< Both A and K ane Fouus
(d) Both A and R ane. falre

A15 Asseviion (A) : Factorisation of x*—2F jc
(=3 (A*+ 3n+9)

Roasom (R 2 ac-b* = @={ a*+ ah +52)
(@ A s e R is Lalre
(b) A is false, R is towe
(c) Both A ard R a%e {sue.
(d) Both A ard R ane folse.
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